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𝑦𝑖 = 𝑎 +  𝑏 ∙ 𝑥𝑖 

𝑦𝑖   é 𝑖

µ  

𝑥𝑖  𝑖 µ

 

𝑎 𝑏

𝑢(𝑎) 𝑢(𝑏)

 𝑏 │𝑏 − 1│ ≤  2𝑢𝑏

 𝑎 │𝑎│ ≤ 2𝑢𝑎

𝑢𝑏 𝑏

𝑢𝑎 𝑎

𝑏

𝑎



 

│𝒃 − 𝟏│ ≤  𝟐𝒖𝒃  , │𝒂│ ≤  𝟐𝒖𝒂 𝑦𝑖,𝑐𝑜𝑟𝑟 = 𝑦𝑖

│𝒃 − 𝟏│ ≤  𝟐𝒖𝒃 ,│𝒂│ >  𝟐𝒖𝒂 𝑦𝑖,𝑐𝑜𝑟𝑟 = 𝑦𝑖 − 𝑎

│𝒃 − 𝟏│ >  𝟐𝒖𝒃  , │𝒂│ ≤  𝟐𝒖𝒂 𝑦𝑖,𝑐𝑜𝑟𝑟 =
𝑦𝑖

𝑏

│𝒃 − 𝟏│ >  𝟐𝒖𝒃 ,│𝒂│ >  𝟐𝒖𝒂 𝑦𝑖,𝑐𝑜𝑟𝑟 =
𝑦𝑖 − 𝑎

𝑏
=

1

𝑏
𝑦𝑖 −

𝑎

𝑏

 𝑦𝑖,𝑐𝑜𝑟𝑟

𝑦𝑖,𝑐𝑜𝑟𝑟 = 𝑐 + 𝑑 ∙ 𝑥𝑖

𝑎 𝑏  

 𝑏

 µ 𝑎 µ

𝑤𝑆𝐴𝑀
2 =

𝑢𝑦𝑖=𝐿
2

𝐿2
 

Onde, 

𝑢𝑦𝑖=𝐿   µ

𝐿           µ   

µ µ

 𝑢𝑦𝑖=𝐿 



 

𝑤𝑆𝐴𝑀 

𝑘 = 2

𝑊𝑆𝐴𝑀 = 𝑘 ∙ 𝑤𝑆𝐴𝑀 

𝑊𝑆𝐴𝑀

𝑊𝑂𝐶𝐷

𝑦𝑖 𝑦𝑖,𝑐𝑜𝑟𝑟

 



 

 

https://www.meteogalicia.gal/web/ica/datos/15/2


 



 

𝑦 = 𝑎 +  𝑏 ∙ 𝑥

𝑏

𝑏 =  
𝑆𝑦𝑦 − 𝑆𝑥𝑥 +  √(𝑆𝑦𝑦 − 𝑆𝑥𝑥 )

2  
+ 4(𝑆𝑥𝑦 )2

2𝑆𝑥𝑦 

𝑆𝑥𝑥 =  ∑(𝑥𝑖 − 𝑥̅)2 

𝑆𝑦𝑦 =  ∑(𝑦𝑖 − 𝑦̅)2

𝑆𝑥𝑦 =  ∑(𝑥𝑖 − 𝑥̅) (𝑦𝑖 − 𝑦̅)

𝑥̅ =  
1

𝑛
 ∑ 𝑥𝑖

𝑦̅ =  
1

𝑛
 ∑ 𝑦𝑖

𝑎

𝑎 =  𝑦̅ − 𝑏 ∙ 𝑥̅

𝑢𝑏
2 =  

𝑆𝑦𝑦 − ((𝑆𝑥𝑦)
2

𝑆𝑥𝑥⁄ )

(𝑛 − 2)𝑆𝑥𝑥

𝑢𝑎
2 =  𝑢𝑏

2
∑ 𝑥𝑖

2

𝑛



 

𝑢𝑦𝑖
2 =

𝑅𝑆𝑆

(𝑛 − 2)
− 𝑢𝑅𝑀

2 + [𝑎 + (𝑏 − 1)𝐿]2 

𝑢𝑦𝑖   𝑦𝑖

𝑅𝑆𝑆 

𝑅𝑆𝑆 = ∑(𝑦𝑖 − 𝑎 − 𝑏𝑥𝑖)2

𝑛

𝑖=1

𝑛 

𝑢𝑅𝑀  

𝐿 µ

 µ

𝑢𝑦𝑖,𝑐𝑜𝑟𝑟
2 =

𝑅𝑆𝑆

(𝑛 − 2)
− 𝑢𝑅𝑀

2 + [𝑐 + (𝑑 − 1)𝐿]2 + 𝑢𝑎
2

𝑢𝑦𝑖,𝑐𝑜𝑟𝑟  𝑦𝑖

𝑐, 𝑑

𝑅𝑆𝑆 

 

𝑅𝑆𝑆 = ∑(𝑦𝑖,𝑐𝑜𝑟𝑟 − 𝑐 − 𝑑𝑥𝑖)2

𝑛

𝑖=1



 

𝑢𝑦𝑖,𝑐𝑜𝑟𝑟
2 =

𝑅𝑆𝑆

(𝑛 − 2)
− 𝑢𝑅𝑀

2 + [𝑐 + (𝑑 − 1)𝐿]2 + 𝐿2𝑢𝑏
2

𝑅𝑆𝑆

𝑢𝑦𝑖,𝑐𝑜𝑟𝑟
2 =

𝑅𝑆𝑆

(𝑛 − 2)
− 𝑢𝑅𝑀

2 + [𝑐 + (𝑑 − 1)𝐿]2 + 𝑢𝑎
2 + 𝐿2𝑢𝑏

2

𝑅𝑆𝑆


